cersanit

0 o
03 0 o |

<!

MOUNTING SET WITH SHORT WALL BRACKETS FOR
SYSTEM AQUA
COLLECTION AQUA SYSTEM

PRODUCT CODE: K99-0267

L
Product description

Mounting set for AQUA SYSTEM series 5/7. Package contents: short wall bracket x 4; adjustable long wall bracket x 2; caps for
pins x 2 pcs; pin guide x 2 pcs .; pins for wall hung bowls - threaded rod M12x160 galvanized DIN 975 / DIN 976 x 2 pcs;
galvanized washer 2113 x 234 x 2.5 x 2 pcs; hex nut M12 DIN934 x 4 pcs; wall plugs 12x60 x 4 pcs; hex nut M10 DIN 934 x 2 pcs;
washer M10 DIN 125 x 6 pcs; washer screw M8x70 x 4 pcs; hexagon bolt galvanized M10x20 DIN 933 x 4 pcs; plastic cover for
pins 18 mm x 2; inspection tunnel x 1 ps.; connector with brass sleeve x 1 pc; coupling nut x 1 pc.; angle, flexible connector hose

300 mm long x 1 pc; cut-off valve with replaceable head x 1 pc

Technical data

Depth

Gross weight

Height

Length

Material

Net weight

The way the system works
Warranty

Width

35cm

1,4 kg

11 cm
1,3987 cm
Metal

1,4 kg
Pneumatic
3 years
25cm



